Oaumnuana «JlomoHocoB» mo mHpOpMaTUKE
2024-2025 y4ebublii 10o/]. 3aKJIIOYUTEJIbHBINA 3Tamn
Pabora ygacTnuka c id 3assku 1393176, norunom inf25f 308

CBOILHbIﬁ NTOTr 110 BCEM 3aJavYaM B HpOBepﬂmmeﬁ cucremMe

RunID Time Username Prob Lang Result Tests Score

294 3:42:38 inf25f_308 1 pypy3 Partial solution 26 88
176 2:37:31 inf25f_308 5 pypy3 Partial solution 1 O
38 0:46:34 inf25f_308 2 pypy3 0K 28 100

N/A N/A inf25f_308 4 N/A N/A 0 O

N/A N/A inf25f_308 3 N/A N/A 0 O

188 TexHmuyeckux 6ayoB
54 mToroBHX bamia



ITocelaka mo 3amade 1
[1] import sys

[2]

[3] def f(n):

[4] ifn % 2 == 8: returnn f/ 2
[5] return 3 * n + 1

[6]

[7] st = int(sys.stdin.readline())
[8] end = int(sys.stdin.readline())

(2]

[18] if st == end:

[11] print(@)

[12] elif st / 2 == end:

[13] print(1l)

[14] elif st * 2 == end:

[15] print(1)

[16] elif st * 3 + 1 == end:
[17] print(1)

[18] elif (st - 1) / 3 == end:
[19] print{1)

[28] else:

[21] tracel = []

[22]

[23] r = st

[24] while True:

[25] r = f(r)

[26] tracel.append(r)
[27]

[28] if r ==

[29] break

[3e]

[31] trace2 = []

[32]

[33] r = end

[34] while True:

[35] r = f(r)

[36] trace2.append(r)
[37]

[38] if r in tracel: break
[39] if r == 1: break
[40]

[41] last = tracel.index(trace2[-1])
[42] r = tracel[:last] + trace2[::-1]
[43]

[44] print{len(r) + 1)

[45] print({*r)



ITocelnka mmo 3amade 2

[1] import sys

[2]

[3] alpha = "ABCDEFGHIJKLMNOPQRSTUVWXYZabcdefghijklmnopgrstuvwxyz"
[4] special = "~ "

[5]

[6] def decode(n):

[7] result = @

[8]

[9] length = len{alpha)

[1e]

[11] i=29

[12] while i < len(n):

[13] r = alpha.index(n[i])

[14]

[15] if 1 + 1 < len(n) and n[i+1] in special:
[16] r += length * (1 + special.index(n[i+1]))
[17] i1

[18]

[19] result *= length

[28] result += r

[21] i+=1

[22]

[23] return result

[24]

[25] def main():

[26] int(sys.stdin.readline())

[27] pl =[]

[28] prev = None

[29] for i, w in enumerate(sys.stdin.readlines(), 1):
[30] n = decode(w.strip())

[31] if prev != None and prev < n:
[32] pl.append(i)

[33] prev = n

[34] if len(pl) == 1:

[35] print(pl[e] - 1, pl[e])

[36] else:

[37] print(pl[e] - 1, pl[1])

[38]

[39]1if __name__ == "_ main__ ":

[4e] main()



ITocelika mo 3agaue 3
ITocernok 1O 3aade 3 He OBLIO OTIIPABJIEHO.



ITocelika mo 3amaue 4
ITocernok 1o 3aade 4 He OBLIO OTIIPABJIEHO.



ITocelnka mmo 3amade 5
[1] dimport sys

[2]
[3] M,
[4]
[5] ps
[6] il
[71

ir
ir

[8] def calc(i):

[9]
[18]
[11]
[12]
[13]
[14]
[15]
[16]
[17]
[18]
[19] def
[20]
[21]
[22]
[23]
[24]
[25]
[26]
[27]
[28]
[29]
[3e]
[31]
[32]
[33]
[34]
[35]
[36]
[37]
[38]
[39]
[40]
[41]
[42]
[43]
[44]
[45]
[46]
[47]

S = vg" ox M

I= 1:

ps[i]

i10(3,1)1]

s[:k] + "|" + s[k+1:]
]

while
5|

[T T R T =

k
s
i
return s

main():
global M, N, K, ps, il
M, N, K = [int(n) for n in sys.stdin.readline().split()]

ps = {}
il = {}
for _ in range(N-1):

S, D, B = [int(n) for n in sys.stdin.readline().split()]

ps[D] = S
il[(s,0)] = B

range (K):
= [int{n) for n in sys.stdin.readline().split()]

e

& 3

for _
PJ

sl
s2

calc(P)
calc(Q)

max_t = @
t=0
for 1 in range(M):
if s1[i] == s2[i]:
t+=1
else:
max_t = max(max_t, t)
t=20

print(max_t)

[48] main()



